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K -1|EAF1TH3252%3 TEXAKJF1—6—5] 49, 000 49,100 | 0.2
KA -2/ NP1 1 0 5% 5 30, 800 30, 800 0.0
K “3FfIH1 TH1586%61 42, 200 42, 200 0.0
k| “4|\HRE2 18 3%5 40, 000 40, 000 0.0
K -5 JEETFEF ) 2 2 5 37 5 0 36, 400 36,500 | -0.3
KA 6| THHTF AR 3 3 0% 4 54, 000 54,100 | -0.2
i al “TICE HET PRI 2 8 4 5% 3 40, 500 40,600 | 0.2
KA BT 1TH326%K4 40, 500 40, 500 0.0
i al 9 RM2TH194%6 1 48, 500 48,600 | -0.2
il “10MFEHR4ATH2ET 35, 200 35,500 | 0.8
K IR RAR 1 19974 9 33, 000 33,100 | -0.3
KA -12|FKET 1 THS5238%6 7 [HHIT1—9— 3] 49, 200 49,400 | 0.4
KA -13|FE1TH328%11 #FE1—-5—30] 27, 500 28,400 | -3.2
K -4 2 TH453%2 k2—3—47) 41, 500 41, 500 0.0
K -15|7R %1 TH203 7%2 44, 500 44, 500 0.0
* | AP -16|FHFfn1 TH345%4 3 47, 000 47,300 | 0.6
KA 17| N2 TH447%2 2 44, 300 44, 300 0.0
* K ~18 | HIHT 8 4 2% 24+ [aiHT 5 — 5 ) 105, 000 105, 000 0.0
KA 19| RJIETFH1h2 56 33%5 0 2 31, 900 32,200 | 0.9
K 20| 8 HAT S — 2 El1 2 0 97K 2 11, 700 11,800 | -0.8
K 21BHE3TH2147%F4 BHE3-8—-22] 45, 000 45,200 | -0.4
K -22|&BT2TH1605%2 &2 —-2—21 | 72, 700 72, 700 0.0
KT 235 JFET1216%&1 9 41, 600 41, 600 0.0
K 24|FAJI3TH850%3 38, 500 38,600 | 0.3
K ~25 ZEITFHL1 8 2 8% 397 40, 200 40,300 | 0.2
KA —26| HRATFHFH4 5% 1 9 37, 400 37,500 | —0.3
K 27| THHTF TR 2 8 7 6% 3 2 47,700 47,700 0.0
K 28|t 2 THA4%7 kM2 —4—9] 41, 000 41,400 | -1.0
Vi al 29| T HEdb 14 1 1% 4 50, 400 50, 400 0.0
KA =30 FHHTFMT 1 2 2 9% 3 56, 500 56, 500 0.0
KA -3 REHTF 9 6 17 12, 600 12,800 | -1.6
* K =32| e E HETFRLOETHIE 7 4 9% 1 44, 700 44, 700 0.0
KA ~33 A0 T FHT HATS 6 7% 2 4 33, 400 33,500 | —0.3
KA 34| AFT6 53%F1 8 THLAMIT8 —1 2 65, 000 65,100 | -0.2
K 35 L HHITFRE 26 4 9F5 1 27, 600 27,700 | -0.4
i al -36| KHHTF RS 1% 1 3 24, 000 24,200 | -0.8
k K 3TWNERTFRIE 1 57 47 3 34, 600 34, 600 0.0
KA 38lIFRER1ITHIO2E 47,100 47,500 | -0.8
K 39 RE2TH210%3 2 32, 800 32,900 | 0.3
K 40k 1 TH3 7%S w1 —7—24] 44, 900 45,200 | 0.7
Vi al ~41|BRENTFHEES 5 6 23F 84t 13, 900 14,200 | -2.1
il —A2 AN BT HIE 5 2 6 7 1 27, 500 27, 500 0.0
% KA A3 BRI 1 207 1 4 28, 200 28,300 | -0.4
KA -44\fEEMIT1 38%F 11 25, 300 25,400 | —0.4
KT 45|71 50 1% 3 24, 900 25,400 | -2.0
il ~46 | K EHTF 56 6 2% 5 15, 200 15,400 | -1.3
K 47| TRRTFRES 2 2 7T 9% 2 5 48, 300 48, 300 0.0
K -48|VE)1 TH3546%8 W1 —11—18] 43, 100 43, 100 0.0
% | KA 5-1R% 1 TH1983%2 57, 500 57, 500 0.0
KA 52| ABT2 TH1&1 14+ [ABT2—1—2 9] 49, 700 49,800 | -0.2
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K 5-3|RIEHT3 TH2525% 24 IRIKAT3 —5—8 | 50, 900 51,000 | -0.2

K 5-4\ 5T 1 TH2 6% TRIT1 —2—1 ) 116, 000 116, 000 0.0

K 55 RET2TH100% RET2—2—4 7| 96, 500 96, 500 0.0

K 5-6|FEMT2 TH4 8 3% 24 IMHT2 —5—2 4| 95, 400 95, 400 0.0

K 5-7TEW1 TH250% M'Elf1—2—4 | 268, 000 271,000 | -1.1

K 58133 TH12%74 k3 —12—6) 83, 200 83, 200 0.0

KT 5-9 RT3 THO9 5% RAT3 —6 — 8 81, 500 81, 500 0.0

K 5-10fam2 TH4473%4 MR 2—-3—19] 44, 900 45,600 | -1.5

KT 5-11 % JFETE /6 0 0F 2 5 60, 700 60, 700 0.0

K S-12/ 84112 TH2%3 106, 000 107,000 | -0.9

KA 5-13|%HT 1 TH2 2% RIT1 —7 — 2] 82, 600 82,800 | —0.2

K 5-14|% %1 TH3%20 Hh1—3—38] 109, 000 109, 000 0.0

KA 5-15|MIT2 TH3 6% MIT2 -4 —35] 127, 000 127, 000 0.0

K 5-16|fE -2 TH6 6 5%&3 24+ 74, 300 74, 300 0.0

K 5-17| HEFET2 TH1 18 9% H#EfET2 —1 — 2| 84, 500 84, 500 0.0

Vi al 9-1| e HETF[lR 1 0 7 4 7& 34+ 27, 500 27,600 | -0.4

i al 9-2| LA AT IR G 1 159 2 21, 100 21,400 | -1.4

EA -1KAKET1 TH455%23 KA1 —9—1 2] 33, 200 33,400 | 0.6

ERvA —2|ZFILUAT1 TH38 9% IZxIUIT1—16—25] 35, 100 35,200 | -0.3

EA BIKANPITTTH98HE TKAMNHT1 —24—1 7 45,900 45, 900 0.0

EA “AEETIT2TEHG66 7% a2 —5—6 | 36, 600 36,700 | —0.3

H 7 SIRKAENPITATHT 2% TKRAMHET4—26—2 4 | 40, 200 40, 200 0.0

H 57 6| HBFIT2TH236% GHFAT2—23—11] 31, 500 32,000 | -1.6

YA ~T|FFHET 4 TH8 7% IiRaHT4 —23— 2 26, 700 27,500 | -2.9

EA -8\ UFEET2 TH 1 5 0% 14 9T 2 —3 — 2 3| 37, 500 37,700 | -0.5

ERVA 9 +FEHILTH 2 N1621F11 27, 800 27,900 | -0.4

H 7 -10|+EHTAEHR A4 TH 8% 3 34, 700 34,800 | -0.3

H 7 “1HZEMTATH22 1% [HLET4—4—6 38, 400 38,500 | -0.3

H 7 12| HZEM2 TH300%K A2 —4—1 8| 36, 200 36,300 | 0.3

ERvA 13T TH1 6 1% 455 —5—2 2| 37, 600 37,700 | -0.3

EIYA 14| RJEHT3TH1 5 2% IRIAET3 —2 3 —1 8 41, 500 - -

H 7 15| HARIT3TH335%F HARIN3—21—38] 34, 400 34,500 | -0.3

YA -16| AR5 TH1 46% AR5 —9—2 3] 37, 800 37,900 | -0.3

H 57 “17TESBT3TH102% EHAT3—10— 2] 37, 500 37,600 | -0.3

H AL “18|KIAETA TH O 73 [KIAHT4 —4 — 2] 36, 100 36, 200 -0.3

EA -19 |+ ERTFAIAYGE ) 8 -3 8 7 57 19, 000 19,100 | -0.5

H 7 20BH)IBT3 TH3 92%6 [BYIT3 —7— 7] 40, 200 40,500 | 0.7

H 7 21| ERET 2 TH 3 3 23 EiRET2 —5 — 3 ) 35, 200 35,400 | -0.6

H 7 —221BIIART3 TH27 8% [1BJI|IABT3 —24—1 5| 30, 800 31,000 | -0.6

ERVA 23 fHEHT1 0 6 3F 2 [HENT4 —6 ) 35, 900 36,000 | -0.3

Eva 24|+ FEHTJHAI 71 3 0 2 1% 9, 350 9, 350 0.0

H 7 25/NAKHEIT3TH1479%1 [NKHEIT3 —17—15] 32, 000 32,100 | -0.3

EA 26 ETERT 1 TH 2 4% [EET1 —2—9] 52, 700 52,800 | -0.2

H 7 27EWIT3TH7 3% 'EWEMT3 —2— 3 41, 200 41,500 | 0.7

ERvA 28|EEHTA TH25 5% IE8iT4—12—-61 33,900 34,100 | -0.6

SIYA 29| FRKRET2THOS®E FFRIT2—14—1 3] 49, 700 49, 700 0.0

ERVA -30[#fIEHT 4 TH S 5% 2 [#hIEHT4 —13—1 7 41, 800 41,900 | 0.2

H a7 “31JIART3TH2033%211 NIIFET3—31—10]) 27, 700 27, 800 -0. 4

EA -32|fHHET3 TH3808%4 1 [FHHMT3 —9 — 8| 31, 300 31,600 | 0.9

H a7 33 MBI 1 TH3176%&7 IH@IEI1—1—10] 37, 000 37,200 | -0.5

EA ~34|HFBT5 TH206 1% 7 HRATS5 —4—1 1| 32, 500 32,700 | 0.6

ERvA 35| AREHT1 THA4 3% [KREHT1—3—2] 40, 200 40,400 | -0.5
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H 7 -36 | RFIHMTFVEE 2 5 4 6 % 15, 300 15,600 | -1.9

ERVA BTRARITATHG 2% TRALRIT4 —2 —4 | 37, 300 37,400 | -0.3

H 7 -38|HEHI1TH13%7 HEAT1—6—1 9] 36, 800 36,900 | -0.3

EA 39| ARILAT4ATH310% AHRILUET4—14—6] 31, 900 32,000 | -0.3

H 7 S-1ERIT1ITHE196% EEIT1—1—1 3] 69, 600 70,000 | -0.6

H 7 5-2|EMT1 TH4 8% l#HT1—5—1 2 78, 200 78,400 | -0.3

EA 5-3|BJIET1 TH 10 9% TBY)IIT1 —15—16 | 55, 900 56,200 | —0.5

EA 5-4|HART4ATH1723%1 14 HAT4—36—5] 47,100 47,300 | 0.4

ERvA 5522 THT75%& ZHIT2—1—4 59, 700 60,000 | 0.5

EA 5-6|SEHT 1 TH15 7&K 24 IH71 —3— 5 87, 300 87,500 | -0.2

YA S-TIEE)IIET2 TH1 26%1 M#5)IT2 —7—8 45, 200 45,300 | -0.2

ERvA 5-8 A1 1 TH6F M1 —3—16] 52, 100 52,200 | -0.2

HAaz -1|EST1 TH3EFZ14 EHT1—1—1 18, 200 18,400 | -1.1

H 37 9-2|HFAAT3 THOO0 2% 1 04 THRAM3—25—1| 24, 500 24,800 | -1.2

ERvA 9-3| R FRI)II1 27 0%&6 0 18, 900 19,100 | -1.0

H 7 9-4\AElT4TH39®ESN HEH4—8—28] 25, 900 26,200 | -1.1

il 1| BEET4 00 7S THMIT7 —1 3 29, 600 29, 600 0.0

B Rl 2/FmM2TH192%1 [4FME2—19—16 31, 700 31, 700 0.0

] B A2TH4290%21 MEAK2—6—12] 27, 200 27, 200 0.0

il -4 B4 TH2700%6 [Efi4—9—3) 33, 600 33, 600 0.0

L] -5 | T 6 7 4 34, 500 34, 500 0.0

il ~6|THESIT 1 92 3% 8 [PHESMIT6 — 2 | 27, 600 27, 600 0.0

Rl TR 1ITH1409%64 MPHE1—-19—2) 27,900 27,900 0.0

(] SIAKEARKEE2THA49F TKEARKKEE2—-17—17] 34, 700 34, 700 0.0

L] -9 THE[1280%18 ITHET2—15]) 49, 400 48, 400 2.1

Rl “10#47 EMT9 20% 93 MLV ENT16—6) 37, 600 37, 600 0.0

Eniil —11 | ) T R AR 2 3 3 67 6 21, 800 21,900 | -0.5

Rl -12[dE1 TES5156% MMdk1 —5—16] 38, 700 38, 600 0.3

Rl 13/ EMM6 THO97%/13 [H46—4—39] 33, 600 33, 600 0.0

Etiil 14|/ 1 TH72%7 /MA1 —26—5] 39, 200 39, 200 0.0

Bl 15| K1 TH1008%&F15 TXR)II1—3—2] 35, 100 35, 100 0.0

En(ii] -16/MAT AT 1 25 8% 6 7 [/MAZLHT6 — 8 ) 31, 300 31, 300 0.0

il “17PR)IHI3 THO96&2 )3 —16—1 9 40, 900 40, 800 0.2

Ew(ii] -18/NHHE2TH1266%56 [/NEHHE2—-10—4 32, 700 32, 700 0.0

il 19 BEIRTART 1 4 5 53 23, 900 24,000 | -0.4

R il -20| L8R 4 8 2 3/ 2 THHMHIT 1 3 —9 ) 36, 700 36, 700 0.0

Rl 21|54 THE1941%13 27, 300 27, 300 0.0

L] “22/B T2 5 7 1%&K 2 T&BIMIT31—7) 28, 900 29,000 | —0.3

il 23 FFKkFE1681%89 27, 800 27, 800 0.0

Rl “24[FN 1 TH4301#%34 P 1 —5—35] 37, 600 37, 500 0.3

] -255E) 1B 8 3 3% 8 3 [thyi)IyhiET 1 7 — 6 ) 39, 200 39, 100 0.3

B il 26| EHE2 TH1331%2 @2 —-8—3 3] 30, 700 30, 700 0.0

il 27 ARK5THS5510%2 11, 200 11, 200 0.0

i 28| BN TRE /1 280%19 10, 500 10,600 | —0.9

Rl 29| MINIHT TS ) A2 4 2 5% T 23, 000 23, 000 0.0

il =30 FRPERTE 159 1% 1 13, 700 13,800 | -0.7

L] Sl{HEFEE6 4 0% 24+ 9, 220 9,410 | -2.0

Rl -32|BBOBS8TH18%3 IBOWB8—4—9] 32, 400 32, 300 0.3

Enil S-l|fhsrthde 1 TH4 23 7%&S5 540 Mpsrhk1 —11—9] 43, 800 43, 700 0.2

il 52f4HT3TH3309%2 T3 —1—3] 60, 500 60, 400 0.2

ERil S-3RYET1 TH332 1% 11 BHr1—12—14] 45, 200 45, 200 0.0

] -4|EH6 TH2237%&K24 IEM6—1—25] 36, 000 36, 000 0.0
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Ew(ii] 5-5|KET1 21 131 TKE[13—17) 46, 200 46, 100 0.2

BRG] 562 TH138F 1N IEJIhE2—-16—20] 50, 700 50, 700 0.0

E il 5-T|EH1 TH3456% H#Mfi1l—14—15] 45, 300 45, 300 0.0

] 5-8|H A4 THEN26F 24 AR 4—11—1 7] 34, 400 34, 400 0.0

il -9 BEBOH7TTH1IES BBOH7T—1—1] 44, 300 44, 300 0.0

Rl 9-1 R ENT 5% 3 21, 200 21, 100 0.5

RG] -1 2TH4616%2 Malif2—8—30] 43, 800 43, 800 0.0

LGl 2BLUAT3 THS546 8%7 LT3 —6—19] 43, 700 43, 700 0.0

Gl 3|fRET2 TH6 56 6%&K2 [fhlif2 —5—26] 52, 800 52, 800 0.0

] 4| ERNT247F4 TER/IT19—1 7] 44, 400 44, 400 0.0

Ll 5| FE)FHEETE 1 20 9F 7 24, 100 24, 100 0.0

RG] G EAT1 TH6 4 7%&K2 MJEAT1 —15—2 4] 55, 700 55, 700 0.0

il ~T|BATREL 8 7 7S 10, 600 10,700 | 0.9

GG SHATH427%?2 74, 300 74, 000 0.4

AT 9 FEHIT2 42 7% 269 [HHEI25— 5] 49, 200 49, 200 0.0

R 10| FILUHT9 9 3% 3 [FLUET2 —3 2 46, 500 46, 500 0.0

RG] 11| B4 314%1 2 11, 800 11, 800 0.0

] -12|3Medkii 2 4 9% 5 74+ 34, 200 34,300 | -0.3

LGl 13| HFEE 2 3 2 1 %S} 29, 700 29, 700 0.0

Gl —14| 1 T HFHTERE] 3 4% 6 7 33, 800 33, 800 0.0

Ll -15| KEEFARMTF 18 3%2 3 46, 000 45,900 0.2

Gl -16|HFRTA ) T520%K4 37, 000 36, 800 0.5

LR 17| R THHATA 5 63 4 30, 600 30, 500 0.3

Gandl 18| ERF—TH265 7%&2 46, 000 45, 500 1.1

Ladl 19| FRELL 71 7HF 32, 000 32, 000 0.0

AT 20T+ HIL1795%16 21, 600 21,700 | 0.5

Ladl 21| B RFRERRGET 103 2%7 37, 500 37, 100 1.1

RG] -2|B PRI 1 6 30%& 10 29, 400 29, 300 0.3

RG] 23| ABEF=F%EI1123%6 28, 700 28,800 | -0.3

LGl 24| T RBFJF118 8 1% 4 12, 000 12, 000 0.0

Gl -25/MEF EHEH 2 9 3% 6 12, 900 13,000 | -0.8

] 26| HTFE AL 4 0 675 29, 000 29, 000 0.0

i 5-1|AKKT1 TH56 03%&K24 [RET1—3—9] 75, 100 75, 100 0.0

p ] 5-2|HART2 TH4 9 0% 2 A2 —3— 3] 83, 500 83, 500 0.0

ey 5-3| 1 THAE24 M1 —4—17] 71, 500 71, 500 0.0

Rl 5-4| Fin R Edk 3 4 1% 14+ 45, 400 45, 200 0.4

A 5-5 381 ETAR 6 4 5K 1 31, 700 31,800 | -0.3

AT 56| EEIT296 1F2 EEIN12—40] 46, 300 46, 300 0.0

RG] 5-7|EaTAbai1 0 1 7& 54 46, 100 46, 100 0.0

] 5-8|H Rl 1 THS56 7 6%FS IHjhf1 —4—3) 65, 400 65, 400 0.0

e -1EOF2THI9852%K2 EOF2—7—36] 18, 300 18,400 | -0.5

A7 [if] 2| =MTFAKHN2 10872 7,750 7,800 | 0.6

Pt -3\ FifFEEOHE 3 4 5 0% 54 10, 700 10,900 | -1.8

1 i 4| EiETHEES8 2 5% 1 4 19, 900 20,100 | -1.0

£l S HAMATHS39343%18 [HAM4—7—7] 24, 600 24, 600 0.0

e 6 fF3TH1802%10 ffF3—5—5] 22, 900 23,000 | -0.4

£ i) T EMTHE /311400 3%8 20, 700 20,800 | -0.5

A7 i) B|EF4TH1932%5 INEF4—5—-21] 25, 400 25,500 | -0.4

A7 [if] GHEAXHES5TH2920%36 THKHES5—8—5] 23, 400 23, 400 0.0

Pt 10| 1 TH4941%1 K1 —-—15—16] 15, 200 15,300 | 0.7

A7 [if] “1FF5TH7921%6 [[FH5—-3—6 21, 000 21,100 | -0.5

e “12ME2TH11H10 E2—11—10] 30, 500 30, 500 0.0
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A [ B EFEFHE2450% 6, 680 6,800 | -1.8

i) -14 | @i a2 63 2 15, 400 15,600 | -1.3

A Jif] 15| \#F53158%19 [N\#fH58—10] 20, 400 20,500 | —0.5

e 16| EFHR10690%FS3 3 6, 800 6,900 | -1.4

A [ -17|#ft2THS56 0%F6 l#fth2—5—1 8] 20, 100 20,200 | —0.5

A [t 5-1|EfF3THG695HF1IN INER3I—2—6) 32, 400 32,500 | 0.3

£ lif] 5252 TH3754% 14 MNir2—18— 8] 33, 100 33,200 | 0.3

e 5-3|AMS TH2926%1 [HAMS —7— 3] 42, 400 42,600 | 0.5

A7 [if] 9-1|#AJR 9 F 1 4} 17, 200 17, 100 0.6

HEYg -1 FEFE1ITHLG6EL 44+ 37, 600 37, 400 0.5

FEIR —2| KRFHEIFIN T 1 8 82 540 (M2 TXK48— 1#4X14, 15) 36, 300 35, 900 1.1

IR B3I RTHREWTKIEH 1 88 0% 2 4 27, 600 27,700 | -0.4

o A RFHEWTHET 1 6 6 2% 8 34, 900 34,900 0.0

IR —5| KRG FARIRT 1 7 9 3% 8 7 31, 300 31,500 | -0.6

o 6| RFHBTFIE/N1011%FL9 18, 100 18,300 | -1.1

(EE T RFRIBFHRIAE 1 2 2% 6 9, 300 9, 300 0.0

o 51| RFAETIHRT 1 7 6 7% 37, 000 37,200 | -0.5

(EE 52| Fuir6 TH7H?2 14+ 41, 500 41,600 | 0.2

IR 9-1|HrEgfhmyv 6 % 1 84+ 18, 700 18, 700 0.0

HE I -1 BT FARB 7O 29% 110 31, 700 31, 700 0.0

HE 7 i} 2|7 4945%FK1 1 22, 100 22,200 | -0.5

HE IR SSUNEARIT T ) F12343F17 28, 400 28,600 | 0.7

HE 7 I} —4| [T 2 7 23, 100 23,200 | -0.4

HE 7 IR -5| 0] 2 6 % 21, 700 21, 700 0.0

BE 7 IRF G|EEATHSET 63, 100 63, 100 0.0

HE 7 IR} =7)RETF= FRE1 05 1%/ 1 10, 400 10,600 | -1.9

HE 7 Ik} -8| KIEHTF L K12 6 6% 3 19, 300 19,400 | -0.5

HE 7 IRy 91 TH15%G6 31, 200 31, 000 0.6

HE 7 IR} -10 |97 JHET 5 9 & 2 21, 600 21, 600 0.0

HE 7 Ik} “TIIERITF/NE L 0 2 2% 6 4 28, 500 28,700 | -0.7

HE I -12|FHP ERT R 1 6 776 27, 600 27,700 | 0.4

BEAr I -13|FHRAESTH2%®1 7 37, 700 37, 600 0.3

HE IR -14|FEfff 751 679 19, 000 19, 000 0.0

HE 7 IRy -1 ERT S 2 8 3% 1 11, 000 11,100 | -0.9

HE 7 Iy S-1E7 5 TH15%&64 45,700 45, 500 0.4

HE 7 I} 2B 1 THO9%S 98, 600 98,800 | -0.2

HE 7 I} 5-3|/ARE2TH1E1 34+ 61, 200 61, 100 0.2

BE A Iy 54\ ERTFIE) I 4 8 9FK 4 94+ 45, 500 45, 500 0.0

BEA I 5-5 | JIIFARHTSTFH5 4 2 57 2 21, 500 21,600 | -0.5

B IR -1k E 3 THA4EL 20, 500 19, 700 4.1

3 -1 FEFFELL28 37%6 22, 100 22,200 | —0.5

ES 2| KEFAHT5 9 8% 13, 900 14,000 | -0.7

T BIAIET 1L TH7 6% 23, 500 23,600 | -0.4

ES ~4ZETFAR 1 4 3% 3 19, 900 20,200 | -1.5

e 5| ARFETEVE S 475 3 17, 100 17,300 | -1.2

T 5-1| FEFHELNL349%2 8 31, 300 31,700 | -1.3

e S-2ET EIE1 6% 1 24, 500 25,000 | 2.0

T 5-3| BT ARH 3 8% 3 38, 600 38,900 | -0.8

i ~1 | FERT ;8 1 5% 3 04 20, 100 20,500 | —2.0

L 2| KUFERBAIT T =RKN3 34 0% 2 24, 400 24,700 | -1.2
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CE =5 | RHm T ik 2 2 1 5% 54+ 10, 700 10,900 | -1.8

TS 6| A4 FFFH 491 5%3 21, 500 21,700 | -0.9

i —TIKWFEART TR 2 57 1% 1 27, 200 27,500 | -1.1

L -8 | KW E G )G T 3 16 23&5 23, 500 23,800 | -1.3

AR —9 | K MEE T EE 2 33 9% 1 11, 200 11,400 | -1.8

AR -10|/KHFERR T PR T RER4 3 7 7% 24+ 23, 800 24,300 | -2.1

R -11 | BT HEBLA N 2 6 3 8F 2 0 24, 000 24, 000 0.0

T 5-1| KM BRI A2 6 8 0FK 1 4 35, 000 35,400 | -1.1

AR 52 /KMEEIHEERT 7 AE 2 8 8 1% 1 40, 000 40,400 | -1.0

E 5-3 A P iEH2 1 552 29, 000 29,200 | 0.7

(it 9-1| KAEMETFHH6 1 2 55 21, 700 21, 400 1.4

HHR 9-2|INSFARRTIH 3 9 4 6 KA+ 22, 500 22, 200 1.4

=y N —1| KAHET 8 4 735 2 17, 600 17,800 | -1.1

PN 2| KM —HT3 84 3%2 27, 900 28,100 | —0.7

=y N 3| RARETF 1 42 7/ 7 8 23, 700 23,800 | -0.4

G =PNEE] —4 | BT 2% 54 1% 10 17, 200 17,300 | 0.6

K 5| ARIG BT FEH9 28%K 1 4 28, 100 28,300 | -0.7

(il =P 6HRATFHR—H2 27 0F 23, 700 24,000 | -1.3

PR -1 ESET3107%1 2 20, 100 20,300 | -1.0

A M ~8|IEHTFHINT 1 6 3 23 9,720 9,790 | -0.7

i 2 S H 5-1 NIRRT PEEEE 2 9 6 3% 1 4} 43, 200 43,400 | -0.5

Ak -1|ERTET 2 TH 8% 2 22, 600 23,000 | -1.7

FEAK 2KFEA4ATE ) E2129%6 2 19, 800 20,100 | -1.5

Ak -3|FHIET2 TH 3 5% 24+ 23, 400 23,700 | -1.3

AR -1\ AT 2 TH 8% 28, 900 29,500 | -2.0

Ak 5-2| AR 2T H2 4% 27,700 28,400 | -2.5

el ~1|PJFETREIR 5 T H 7 7 &4+ 27, 200 27,400 | -0.7

B/ &2 —2| KT AEHT 4 TH 47 9 23, 500 23,900 | -1.7

LRIk 3T R A5 TH1 9 7%2 2 17, 900 18,100 | -1.1

ALKk —A4 | REERTEATFE 1 4 8 0% 2 15, 200 15,400 | -1.3

BRIk 5-1|F&JFRTANT 2 T H 3% 74+ 28, 800 29,200 | -1.4

el 52| BJFRTRER 1 T H 1 2 8 %4+ 36,900 37,200 | -0.8

Bk 53| KIEERTILET 2 T H 2% 2 27, 400 27,900 | -1.8

G| -1/ F KM 150 5%2 25, 300 25,700 | -1.6

A -2| HMTHY 3 3F 7 23, 200 23,800 | -2.5

G| 3| THEFHEHEKL9%E9 19, 000 19,200 | -1.0

A 48Tt EHI6 256745 25, 200 25,500 | -1.2

L] SUEHTES 112 9% 4 11, 700 11,900 | -1.7

A 6| THRFEE 3 96 97 2 16, 800 17,200 | -2.3

g 5-1| 7R 9 & 5 32, 800 33,200 | -1.2

A 5-2 AE M FEFFFRI1 4 0 3% 14} 27, 600 28,000 | -1.4

| 5-3| R 4K 4 32, 100 32,500 | -1.2

G| 5-4|\E1THS8%3 I\E1—-8—3] 38, 900 39,000 | -0.3

F -1|EE2THS78F1 14 [H152—-1—-3 7] 86, 000 86,900 | -1.0

F 2/HLU1ITHZ1013% 14 THLU1—-—4—-32] 61, 000 61,200 | —0.3

F SIHEF2TH3241%12 HH2—-12—-10] 54, 500 54,700 | -0.4

IF “4'EfHTEE1021%3 1 52, 900 53,000 | -0.2

0 SHMATHIAS 5 2%F3 9 26, 800 26,900 | -0.4

I+ 6K/ JF7tH 1 263%3 9 39, 900 40,100 | -0.5

T ~“THBMFE3ITH4152%139 [HWMFE3I—43—-15] 26, 500 26,600 | -0.4

F S| HEAES5TH4688%F HEAE5—-8—6] 55, 900 56,400 | 0.9

I 9| I L7 59%2 7 44, 200 44,300 | -0.2
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(1)

(2)

(3)

(4)

(5)

FEAEH = FEAE N D FTAE & O E I N B FoR FEVEHL D 1 S | RTEATR | 25 Hh 2R
FA— | (H/ i) (%)
7= 0 DAk
(F)

HF -10 4% 3TH3716%30 H#3—-8—16] 54, 700 54,900 | -0.4

U 11| HBF1TH4087%F H¥FHF1—-3—18] 62, 400 62,500 | —0.2

HF “12|BE1TH7T02%7 BE1—-7—22) 72, 600 73,900 | -1.8

H 13 EERFRATE T 1 85 0% 1 2 40, 000 40,200 | -0.5

F “14|FEES3TH14%19 [FiH3—14—2 8| 49, 900 50,100 | -0.4

i -5 A1 TH2766%4 (HHFA1—12—16] 49, 900 50,100 | -0.4

ES -16| = HFA 3 7 4% 6 34, 000 34,400 | -1.2

I 17\ TRHfT 5 5 8% 2 33, 000 33,100 | -0.3

Ve -18|W3TH1021%3 [H3—-—5—35] 48, 400 48,700 | 0.6

JifES “19AM1ITH1766%2 (A1 —22—12) 45, 400 46,000 | -1.3

0 -20(751 TH136%135 51 —25—1 3] 55, 600 55,900 | 0.5

e+ 21 |BF 2 FHFRHIHE20 9% 1 6 31, 200 31,600 | -1.3

JipER “22|IUEFRMMN3 3 8F 1 16, 100 16,300 | -1.2

HF 23| FHETEEE1 5 7 3% 4 34, 700 34,900 | -0.6

JipER “24|FHFM4 722%39 34, 900 35,300 | -1.1

F 25| FEHFTELEARA1078% 18 17, 000 17,400 | -2.3

F -26/| 1 AL BopE 9 4 9 3 2 4t 14, 700 14,900 | -1.3

I ES 27|FH9 TH16%13 [FgH9—16—25] 51, 100 51,200 | -0.2

i 28| HE3THA4324%2 HHAE3—15—2 3] 52, 800 52,900 | -0.2

HF 294 THHF388%&1 7 IHIT4d—19—2) 76, 300 77,100 | -1.0

i 3072 TH108%44 M2—30—1 3] 57, 600 58,400 | -1.4

T BIARTTAREG 5% 3 44 33, 300 33,400 | -0.3

e+ 32\ FTF =T 1 05 5% 1 1 37, 600 37,800 | -0.5

JipER -33| B2 TH10&1 7 55, 600 55, 500 0.2

IF 3-1|SFHFRRA 8 2 TF 10, 200 10,300 | -1.0

H 5-1HIL2 THZL944%6 34 THIL2—4—1 8] 51, 000 51, 000 0.0

F 52l F1THA1568%3 IF1—2—6] 72, 000 72, 000 0.0

i 5-3|AIU3THA987FK1 TAL3—2—30] 51, 200 51,600 | -0.8

I ES 54 lRTF2TH3%E4 TlRF2—3— 4] 117, 000 118,000 | -0.8

T 5-5|SFHFHA 6 3 3 6F 14+ 58, 900 59,000 | —0.2

I 5-6| T b 3 1 23& 14+ 48, 200 48,500 | 0.6

i 5-T|EMITREEE 1 2 5% 2 46, 800 47,100 | -0.6

SN -1M7TH8®%F?2 39, 400 39,500 | 0.3

A 2| K EPHT 6 8 7 11, 000 11,200 | -1.8

LS/ 3tk 2TH18%F2 61, 400 61, 100 0.5

SN -4 HERIFHIL107 1%34 39, 500 39,600 | —0.3

LY/ S| EHE2TH15%10 33, 000 33,200 | 0.6

A 6| FABTF RT3 1 37%F19 39, 100 39, 100 0.0

A0 -1 1TH5%6 55, 700 55, 600 0.2

SN A1 TH36%F25 39, 800 39,900 | —0.3

SN 9 HERFHAE23 0% 7 49, 300 49,400 | -0.2

I “10XARIT1THL 2 6% 38, 900 38, 900 0.0

I -11|#56 TH3 5%4 40, 900 41,000 | 0.2

2SN “12[07-BH K1 THL5%S 74, 000 73, 300 1.0

A —13| [ ARTFZHE AR 2 5 7 73 34+ 11, 500 11,600 | -0.9

£ -14|5%HT1 THS56%4 6 52, 300 52, 200 0.2

SN -15|&<{ HbE1TH48%16 33, 100 33,200 | —0.3

2N -1 AMT TR 2 4 3 6 &S 11, 700 11,800 | -0.8

I 51| HERT R 1 4 2% 6 61, 100 62,000 | -1.5

I 52| EMIH4TH1%E7 59, 500 59,600 | -0.2

A 5-3|FEFHTFRNUALR 9 95F&F 1 2 14} 45, 600 46,000 | 0.9

H0 5-4|Hh 5 TH20%9 99, 500 100,000 | -0.5
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(1)

(2)

(3)
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FEAEH = FEAE N D FTAE & O E I N B FoR FEVEHL D 1 S | RTEATR | 25 Hh 2R
HA— k| (1 nd) (%)
7= 0 DAk

(F)

A 55| 3 TH22%2 63, 000 63,100 | -0.2

£ 56| M HLBFRATH1I%H10 91, 500 91, 300 0.2

SN 9-1|HJFET1 6 5 0% 1 14+ 21, 600 20, 900 3.3

HI0 13-1|S<HH4TH19%F64 2,900 2,940 | -1.4

SF -1|EH3THS%H19 89, 600 89, 600 0.0

2 2|\t Al 2 478 8 81, 200 81,300 | -0.1

> E -3|FH2TH15%5 113, 000 111, 000 1.8

><T 4| HEE TR 4 0 3 2% 34+ 23, 000 23,200 | —0.9

2 E SIAHTHMN1205%1 2 40, 100 40, 100 0.0

><E 6| HHEESITHG6ET 44, 000 44, 000 0.0

><iE -T{EM3 TH8%E2 8 43, 200 43,300 | 0.2

2<IX -8|\FEk It 7 R13 3 2% 2 12,900 13,100 | -1.5

CRES 9U/NHT5RE3 0 3 5% 2 16, 700 16,800 | -0.6

><E -10[£# 6% 3 32, 200 32,300 | -0.3

2L “11|RAR3TH13%S 83, 100 83, 200 -0.1

SE 12/ KA1 THSHEL 2 100, 000 101,000 | -1.0

><E -3 THH1TH18%E L 125, 000 124, 000 0.8

2>0F -14 | ¥ 8 % 8 36, 600 36,800 | —0.5

><T -15|EmBFAE3THL 2%2 04 39, 600 39,700 | -0.3

o< X -6l EHE1THS34%19 35, 500 35,600 | 0.3

><iE 17| HETZT6 2 8 6% 14+ 27, 400 27,600 | -0.7

> iE -18 A2 TH1%S3 85, 800 86,200 | 0.5

CRNES -19|Em A4 THG6F9 28, 300 28,400 | -0.4

SE 20842 TH32%8 73, 500 74,000 | -0.7

SE 21E2TH13%19 173, 000 - -

SIE -22|&FH3TH12%5 92, 900 92, 900 0.0

> E 23| K FEH445F 1 14, 600 14,800 | -1.4

><F 24| BT E# 3 8 3% 12, 700 12,800 | -0.8

> E 25| BAEFTARN5 0% 1 10, 500 10,600 | -0.9

><F -26|[E TGS 8 3% 2 10, 900 11,000 | 0.9

eRES 275 BET TEBHR2 49 8% 14+ 16, 200 16,400 | -1.2

><E -28 [ #PRRF BT 9 8 F 1 9, 480 9,520 | 0.4

> X -297E 1 THSE?2 208, 000 199, 000 4.5

CRNES 5-1/NBPlR = FBAXT 2 9 2 7% 34 80, 000 79, 800 0.3

SE 522 TH14%4 83, 600 83, 600 0.0

>< X -3 1 TH6E1 285, 000 273, 000 4.4

> 5-4| B H 2 4 3% 34 171, 000 167, 000 2.4

2<X 55|52 TH 1&54 52 —1—5] 57, 500 57,600 | -0.2

><F 5-6| KERTFAEE2 99 9% 1 28, 000 28,100 | -0.4

U= B -1 KRFHEFTFHE404%F 146 34, 900 34, 900 0.0

[ONASTAY/A 2| RFRHTFARERE1455%9 24, 200 24, 200 0.0

[ONR5YAF/A 3| EWEM3THL 1%6 EW3—11—15] 52, 000 52, 000 0.0

[ONASYAY/A A RFEA)NNFHEIFEI 57 0% 3 33, 900 33, 700 0.6

[ON/RZYA¥/R SAEFE2TH10%E7 HHEF2—-10—29] 46, 000 45, 700 0.7

[ON/ASYAY/R —G|FEFET3 TH15%21 [{#EfET3 —15—7 6| 43, 300 43, 300 0.0

[ONRZYAFiR T FxFHT 2 771 5 21, 600 21,700 | 0.5

Oz B 720 8| KFHEFFEG6 3% 3 9 35, 900 35, 700 0.6

[ONRZYAF/R 9 RFRINFIBFNL 2 7 93F 15, 500 16,100 | -3.7

OBy —10/HEART1 6% 10 BEHART16—6 | 48, 500 48, 000 1.0

O7ebileh -1 KRFBETFREH2 6 34%20 25, 900 25, 900 0.0

OB 727 “12|KEBATHAR 2 THRKE4—4—2) 47, 800 47, 200 1.3

Or=biny -13E$3TH1LIO0%ES 38, 600 38, 300 0.8
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FEAEH = FEAE N D FTAE & O E I N B FoR FEVEHL D 1 S | RTEATR | 25 Hh 2R
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O=beny —4RFREETM 3 9% 4 31, 700 31, 500 0.6

OF=H72hy 15|57 BT T H -1 0 0 1 % 4 16, 100 16,200 | —0.6

O7=bH72hy 16| KRFRIRTFIIEL 30 2%6 4 27, 700 27, 700 0.0

OebZehy 17T KRTFRIFTFALR 6 6 83F 1 12, 400 12,600 | -1.6

[ONASYAY/R 18| KFBIEFMEH2920HF1 77 31, 800 31,900 | —0.3

OB 72 S92 THL127 1% B AME2—17—3) 20, 400 20,500 | 0.5

O=beny 20 KFHIRFE U3 337%146 33, 900 33, 900 0.0

OebZeiy 21 FHEIITE 1 790%1 17, 900 18,300 | -2.2

O=bieny 22/ PET1 THS8%E 1 5 38, 500 38, 500 0.0

OBy —233ERIT5310%K2 HERIT3 —3 3] 20, 800 21,000 | -1.0

OBy 24+ =7171146 6%3 17, 300 17, 300 0.0

[ON/ASYAY/R -25|\IFEHT 7 1 2 9& 54 [J\IEHT 7 — 6 | 19, 700 19,800 | 0.5

O=breiy 2600 KTHEATAR459%F19 (RHE74HX17) 47, 800 47, 300 1.1

[ONASYAY/R 2T REBEFERE2525FK1 79 30, 100 30,500 | -1.3

Oz bleny 28 KRG T 16 08%8 9 33, 200 33, 200 0.0

O7=bH72dy 29 KRFHEFEFE1I220%K1 2 36, 000 36, 000 0.0

O ebZehy 30 KTFRBIFTIHEAE 146 9%F4 9 28, 600 28, 600 0.0

[ONRSYAY/R 31 KE3THO®ELS MRE3—9—15) 45, 000 44, 500 1.1

[ONR5YAF/R 5-1|RMT 1% 7 [EAT1 —4 ) 56, 000 56, 000 0.0

O=bleny 52T 3 TH2%K 1 9 [l 3 —2 — 5 | 54, 500 54, 500 0.0

[ONASYAY/A 53 AKE1TH18%1LI1 IHKBE1—-18—5] 49, 700 49, 700 0.0

OebZehy -4 KFHETEEL 24 3% 24 39, 000 39, 000 0.0

[ONRSYAY/R 5-5|EFTR2THS566 1% IEFR2—-1—-29] 27, 300 27,800 | -1.8

[ONR5YAF/A 5-6| % 4 57 8 34, 100 34,500 | -1.2

OBy 91Uk 1 7 0% 17, 000 17,100 | -0.6

[ONR5YAF/A 92| KFREHTFTH TN 09 6% 3 44 21, 200 21,300 | -0.5

JEEWE -1|"EHh3TH4%F1S5 '3 —4—25] 29, 300 28, 900 1.4

JEEUE 2 MrE1TH282% 2254 I rE1—14—15] 24, 900 24, 500 1.6

JEEWE 3 RFHEHFIMRL A 7 9F 24+ 18, 600 18, 600 0.0

JEEE 4 RFEHFE=AL51 7 0% 1 24, 900 24, 500 1.6

JEE S 5| KRFEIHFHME20F2 1 8 13, 600 13,700 | -0.7

JEEE 6| RFEHFHRILS 4 2% 24+ 25, 000 24, 400 2.5

JEEUE TR THTFHHMG6 6 0% 4 13, 400 13,600 | -1.5

JEEUE 8| RFHFHAI16 9 2% 1 8, 550 8,780 | -2.6

JEE NS -9 KRFFRIFFHRIS 4 97 8 12, 500 12,600 | -0.8

JEEWE S-lE 1 TH2219%244 g1 —-—9—-30] 25, 800 25, 700 0.4

R 523 TH1IHELS MNEH3—-—1—20] 27, 500 27, 400 0.4

Wk -1 EFERTO 8% 1 13, 900 14,200 | -2.1

ok 2| LA TFEEA 1753 8,410 8,600 | -2.2

GES -3JIIZ36 93%30 15, 300 15, 300 0.0

ok 4 REF2TH21%&16 18, 000 18, 000 0.0

Wk 5|Hifa2 758%F 1 14, 200 14,300 | 0.7

ok 6|"=RI2TH3 7% 1 4 16, 500 16, 500 0.0

GBS “1HH2 TH30%EK2 1 22, 900 23,000 | 0.4

Wk 8|t 2 1 7 14, 000 14,100 | 0.7

Wk 9EHH1 86 6F7 11, 200 11,300 | -0.9

ok -10|BZHTHE /&6 3 471 5, 950 5,980 | 0.5

Wk -1 HE3394%F1 5, 820 5,870 | 0.9

GBS 12| RAEFHEFEGR 10 1 1% 3% 5,010 5,070 | -1.2

ok 5-1 Pk FETH9 23%K1 16, 500 16,600 | 0.6

GBS 5-2iF A 3 9 3% 14+ 22, 000 22,100 | 0.5

S -1EE7E2 THTFEK2765%&1 14+ 94, 100 93, 000 1.2
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FEAEH = FEAE N D FTAE & O E I N B FoR FEVEHL D 1 S | RTEATR | 25 Hh 2R
KA= b (M) | (%)
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(1)

SEA 20N LE1TH6FL 6 157, 000 152, 000 3.3

SEAY S EAVE3STHETLEM266 1%1 9 112, 000 109, 000 2.8

SEAY 47T THA%S 91, 800 91, 500 0.3

SEAR ~5| ARMTFHHT 5 0 47 8 110, 000 109, 000 0.9

SEA 6| TEE 1 THSEK4 71, 400 72,100 | -1.0

SiA “TEE7E3THTHL2792%1 2 87, 300 86, 600 0.8

SEA BIFREBE5THL3FT 107, 000 106, 000 0.9

SEAY 9O E2THLIO0E?2 78, 600 78, 600 0.0

SEAR -10|3RiFE 7 TH8&E 1 4 67, 100 67,200 | -0.1

S 1y E2TH2 1% 75 89, 700 89, 100 0.7

SEA “12|RHTFHEI3 91 272 21, 800 21,900 | 0.5

STAY 13| BRI FHERRRALR 1 1 5 43 1 20, 800 20,900 | -0.5

SFA 5-1 KRBT mJ 1 5 33 1 117, 000 116, 000 0.9

SEAY 52| 2 TH16%20 189, 000 181, 000 4.4

SZA S-3MHFT 7 2 TH1 1%&2 78, 700 78, 700 0.0

SER k2 TH2 7&F14 33, 500 32, 000 4.7

R E -1 RFHI497F12 18, 100 18,300 | -1.1

R 2|fhr BET8 1 5% 8 20, 600 20,800 | -1.0

whERE 5-1|FHT2 9 3% 8 27, 800 28,000 | —0.7

AR ET -1ERFHI6 5 8%5 2 29, 100 29,200 | -0.3

Fiji$20) 2ERTHEE298 3%5 32, 000 32, 000 0.0

BRET BERT—/BHA4552FK17 34, 200 34, 200 0.0

BB E] 4 ERT/INASNT 94 1%K49 26, 600 26, 600 0.0

Fil3a0) 5| EATHH S 4 1 1% 24 26, 500 26, 500 0.0

Al Eaf 6 EATFRANI6 27K 1 3 25, 300 25, 300 0.0

Fil320) =7 IEFKFHIE 6 5 27 1 14, 700 14, 700 0.0

Al Eaf BERTTEE421 0% 34, 000 34,200 | 0.6

AR E 9| IGETF5 1 1 6 93F 2 16, 300 16,500 | -1.2

A EA 10 HABFHH 3 2 6 % 3 15, 200 15,600 | -2.6

Fili$20) 1B TME 1 26 6% 1 10, 600 10,700 | -0.9

AR EA] -12 | BEH A s 2 9% 12, 000 12,100 | -0.8

BB EAf 13| FREFRKHFM1 2 8 3F 34+ 6, 620 6,640 | -0.3

i) -1|5FHH 47 5% 27, 600 27,700 | 0.4

HLVG 2| P IA ST 1 4 & 26, 300 26,400 | -0.4

L B HFFHHH2 6 836 2 21, 800 21,900 | -0.5

HLvE 4| IR THE SN2 9 8 8% 34 15, 700 15,800 | 0.6

i SIEATRKELT6 8% 31, 600 31, 600 0.0

HvE —6| KRR FRAMEE 8 4 T 5 29, 000 29, 000 0.0

i ~T| TSN 6 732 32, 000 32,100 | -0.3

B B|FETAE 196 4% 74 20, 000 20,100 | 0.5

HLG 9| BT FEL1 8 3% 17, 000 17,400 | -2.3

i) -10| AR FAEN 6 3% 44} 16, 000 16,200 | -1.2

i -1 HRTFAE1996%6 8 20, 800 20,900 | -0.5

E:NiE) 12 BT ERNIEAR 7T 4% 5 17, 700 17,900 | -1.1

SvE 13 TFEPE 27 8% 15 23, 500 23, 500 0.0

HLPH -14|ZEMT2 TH1305% 157 EEi[T2—-24—11] 26, 700 26, 800 -0.4

HLve -15| KBTI 9 6 9% 1 10, 400 10,500 | -1.0

i -16| HATEFHI11110%KS5 8, 600 8,650 | 0.6

HLvE 17 {EHFPEIL5 8% 2 9, 250 9,500 | -2.6

LvE -18| BT 1 8 93 2 10, 900 11,000 | -0.9

B -9 RAHFHRAL 13 2% 9, 480 9,600 | -1.3

HLG 5-1|FHANN 9 5 43 45, 300 45,600 | 0.7
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FEAEH = FEAE N D FTAE & O E I N B FoR FEVEHL D 1 S | RTEATR | 25 Hh 2R
KA= b (M) | (%)
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(1)

BLvE 52| FINESFTFFE8 1 2% 24+ 36, 100 36,200 | -0.3

E:ANiE) 5-3|F L J\HTH 2 7 7% 1 4% 35, 900 36,200 | -0.8

g S5-4|SNETFTI 7 4 8 FAHh 39, 100 39,300 | -0.5

P -1 &5 F%114 89 97%6 27, 500 27,600 | -0.4

PR 2HFEH1111%28 31, 000 31,100 | -0.3

PR S UHATEMA1517%6 9 27,900 28,000 | -0.4

S 4 PS5 5 1% 10 20, 900 20, 900 0.0

P SIEHTIHEN2255%6 24, 800 25,000 | -0.8

U -6 HFAFI1 085%4 5 27, 000 27,100 | 0.4

YR T EHTFE 16 772 17, 700 17,800 | 0.6

P SEHT KN4 152%1 14 25, 100 25,200 | 0.4

P -9\ A E T8 3 27 1 20, 700 20, 700 0.0

PR 10 TR 1 6 1 1752 10, 000 10,100 | -1.0

Uy -1 AETFFEE2 18 2% 9, 900 10,000 | -1.0

BH “12|BEATHAE3I691F1 10, 400 10,500 | -1.0

PR S-1 AT M4 4 4 8F 1 40, 600 41,000 | -1.0

ek 1R TERIR3332%K7 11, 200 11,400 | -1.8

[EE 2L FHE L1 0 636 11, 800 11,900 | -0.8

ik -3 IETHE 3 7% 14+ 10, 200 10,300 | -1.0

L -4 fEMTAER 1 0 7% 34+ 6, 720 6,840 | -1.8

T SIREETHH3 20 4% 7, 300 7,400 | -1.4

(LS 5-1 VLAl F-E EpfF 356 0% 3 16, 800 17,100 | -1.8

fia % 5-2| L4 IM4 37 6% 2 16, 700 16,800 | 0.6

sk 9-1| P KHTGER 4 5 7 4% 4 13, 800 13, 700 0.7

DTHBIL - REFHEHRS700%1 14, 200 14,300 | -0.7

DT HNRIL 2 RAETHEFIL6207F17 20, 900 21,000 | -0.5

DT HNRI D B PREFHE3186%F19 28, 700 28, 700 0.0

NTHENIL A4fEE2TH2613%339 fE2—14—17) 34, 000 34, 000 0.0

WTHNIL SFEEHR2TH2465%32 fiEl2—18—8] 31, 600 31, 600 0.0

DTHENRID BFeE R4 TH3873%K4 Mfaaw4—22—3]) 31, 900 31, 900 0.0

DI HPRIL T TREFMRE1699%F16 24, 000 24,100 | 0.4

WTHRNRIL SRAETENES 19 7FK1 2 6, 200 6,300 | -1.6

MITHNRIDL YERFI/K2965HF7 7, 340 7,420 | -1.1

WT AN L 10| EHFFHLTFT7T39%F 1 4 7, 800 7,830 | 0.4

WTHNI D 11 FERTHEF2230%2 6, 270 6,300 | -0.5

DT HNBIDL 91| RETFHERLG6 14 7%F4 3 13, 600 13,700 | -0.7

B -1 KRIR2 0 7THT 17, 600 17,800 | -1.1

B 2AFA4THATEL 32, 600 32,700 | —0.3

BN -3 BT 5 5 3% 5 8 20, 500 20,600 | -0.5

BN —4 | ERERTAUIF 5 FK 8 1 2 8% 6 17, 200 17,300 | -0.6

BN -5 | ELRERT IR R FAf 5 6 37K 4 15, 200 15,300 | 0.7

23 -6 EAENT RO 3 3 5% 1 15, 300 15,400 | 0.6

B “TIARRFPERR1 25 5% 2 11, 900 12,100 | -1.7

23l -8B TE KA 3 1 4 3% 54+ 16, 300 16,700 | -2.4

B 9| HEENTHERE T/ Nk 6 7 3% 10, 200 10,300 | -1.0

B 10 RFFHN2 943K 2 11, 000 11, 000 0.0

B 11| ARFA4 8 8% 3 9, 200 9,300 | -1.1

B S-1EMETILELI 95F 1IN 29, 500 29,600 | -0.3

] -1 A2 TH1219%157 2 —14—24) 22, 500 22, 000 2.3

TG 2 KEFJF 1 TH2445%28% IK#FH1—4—48]) 21, 800 21, 400 1.9

A SH3TH1222%186 iz —12—2 3] 21, 300 20, 900 1.9

PG “4HMFPRE5TH3406%FK454 mFEPRL5-3—-21] 20, 300 20, 300 0.0

11




(1)

(2)

(3)

(4)

(5)

FEAEH = FEAE N D FTAE & O E I N B FoR FEVEHL D 1 S | RTEATR | 25 Hh 2R
KA= b (M) | (%)
7= 0 DAk

(1)

AT SR 1ITHS6%27 18, 700 - -

AR 6| WiT/hER6864F1 1 19, 400 19,500 | -0.5

AT ~TIRHEETH29 2 6% 3 9, 860 10,000 | -1.4

ARG -8| I T E 9 17 8% 3 15, 400 15,500 | -0.6

AR —9 IR AR 8 4 7 0F 1 19, 100 19,200 | -0.5

TR -0/ FFTF2975%28 12, 100 12,100 0.0

A 11|\ WiFT#% 01 8 1 754 6,610 6,650 | —0.6

PTG 12| IR HEE 7 1 7 2% 15, 000 15,100 | -0.7

AR 5-1|KEF3TH408%F 184 IK¥FHE3—10—1 45, 500 45, 000 1.1

PR 5-2/0E 1 TH600%20 &1 —-2—-31] 28, 400 28, 200 0.7

FAR 9-1 | PR TIEF 6 2 2 33 6 54 17, 000 17, 000 0.0

] 9-2| EP R TR 8 0 8 97K 14, 800 14, 800 0.0

175 I BRETKK1 16 1%E6 9, 400 9,500 | -1.1

175 2ETHAE3286%F22 5, 450 5,560 | 2.0

175 3PN EIE T 1 9 27 14+ 6,970 7,080 | -1.6

17 ~AUMEFATEHE1418%2 8 5,470 5,560 | -1.6

175 5-1| EiEFRETH 6 5 9% 1 24, 200 24,300 | -0.4

17h 521 EFT—T#3290%F1 2K 14, 300 14,400 | -0.7

2 1| FATEKES40%4 4 7, 240 7,390 | 2.0

# 2| BiRFi =1 5 0 8 &4t 6, 340 6,490 | -2.3

#H ~3|HEEHTE 2 TH 3% 2 16, 400 16,500 | 0.6

# H 4 BRI T 31 9% 1 3 7, 330 7,440 | -1.5

# SHLFTE1149%F 6, 420 6,540 | -1.8

$ H -1k EFE /N1 17 0%F 144 12,100 - -

# 5-2|Fi#EmM 2 TH2%& 44+ 20, 300 20,500 | -1.0

OLEAB BRI 1 7 1811 17, 100 17,200 | -0.6

ONEA B 2R HHTFACHI 1 4 0 3% 9 24, 600 25,100 | 2.0

OB B B3UNMETI T 1 857 3 6 33, 400 33,500 | -0.3

OLNEB B —4l%KlE sy 2 TH1 4%6 63, 700 61, 400 3.7

OLERBY B EFEEL4F 1 12, 800 12,900 | -0.8

OFEH BV BFREFHRR3 3FES 8 24, 400 24,600 | -0.8

OLEABY TEFTFHFE2025%1 3 26, 400 26,500 | —0.4

OLNEHRBY 8HATF28 5% 10, 700 10,800 | 0.9

OLUERBY 9l BT H8F1 2 38, 600 39,000 | -1.0

SIFEHBV -10DE6 TH3EKL O 78, 500 78, 500 0.0

OLUERA DL IO E2THTE1 79, 300 79, 100 0.3

DNEH B 52\ IFRTHAH 3 1 9% 14+ 18, 800 18,900 | -0.5

DNEH B 9-1 | FEEFHE) M 2 50 5% 1 21, 800 20, 900 4.3

NEE -1/NIF151% 8 6 1 % 4 17, 600 17,700 | -0.6

NEE 2B A w22 5% 14+ 9, 300 9,400 | -1.1

hEE SBWETHH2895%166 17, 200 17,300 | 0.6

NEE 4| PETHFE2659%E37 21, 100 21,200 | -0.5

INEE S IFFFHE 1 3 4 6F 24+ 6,510 6,570 | —0.9

NEE BAABRTOIOBE1016%&1 44+ 15, 100 15,200 | 0.7

NEE “TEHTA Y1 9% 2 10, 500 10, 500 0.0

NEE 5-1|HIETREH 1 2 8% 2 23, 800 23,900 | -0.4

NEE 5-2 P S FHY-26 73%5 29, 500 29,600 | —0.3

RIK -1 RFEMTREF3318%F116 23, 800 23,900 | -0.4

KK 2| KF/IMBFAE 1 7 6 5% 22, 800 23,100 | -1.3

RIR BIRFRAFHSGHE192 1% 1 20, 900 21,300 | -1.9

KK 4 RFRMFTFHE145%1 24, 300 24,600 | -1.2

RIR 5| RFHHT T1H6 6 73 1 9, 000 9,200 | -2.2
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(1)

(2)

(3)

(4)

(5)

FEAEH = FEAE N D FTAE & O E I N B FoR FEVEHL D 1 S | RTEATR | 25 Hh 2R
KA= b (M) | (%)
7= 0 OAfiks
(1)

RKIR 6| RFARFmE 3 3 6 3% 34+ 6, 500 6,550 | 0.8

KK T RFHARTY ) AR8 7T 7F 1 7,370 7,410 | 0.5

RIR 8| RFEIGFPE /N1 8 2% 1 12, 400 12,600 | -1.6

KIK 5-1\ RFV/MBEFHfH 1 0 5% 4 23, 700 24,200 | -2.1

KIK 52| RF-EFHH 3 4 7 2% 14 30, 900 31,200 | -1.0

Kk -1|B45E 3 9 2 %4 28, 400 28,600 | 0.7

Kk 2| BT S MAJR S 3 4 97 28, 100 28,300 | —0.7

Rk -3 KRBT FHfE 1 3 53 18, 300 18,600 | -1.6

Kk 4| IR FHREZ 1 16 1% 26, 900 27,100 | 0.7

Rk -5|BRIEHT RN 4 1 0 7% 22, 600 22,700 | -0.4

Kk —6 | BRI ERT 78 1 2% 1 0 13, 900 14,200 | -2.1

Kk 5-1 | BT 50T 8 9 3% 1 4} 32, 500 33,000 | -1.5

W I RKRTABETHIT2376%3 2 13, 800 14,000 | -1.4

HRE 2 RKRFTAGTRIEI 2 3% 1 2 10, 800 11,000 | -1.8

IR 5-1RFABEFHEAE1175%5 18, 900 19,500 | -3.1

IR A -l KFaMETE L2 45 2% 2 94+ 33, 000 33, 000 0.0

IRIR A 2 KIE2TH17H%14 TRILBE2—17—32] 48, 500 48, 500 0.0

R A 3| RFHANTFIEME 3 5 5% 14 AR 4 — 1 4 — 3 | 51, 100 51, 100 0.0

IRIR A —4| REFAIRFHEIR 1 4 6 0% 3 35, 500 35, 500 0.0

I AR 5| FFEJIER3 THOE 16 [HHAJIERK3I—9—36] 53, 200 53, 200 0.0

IRIR A 6EBH1TH1736%F12 EH1—-10—38] 32, 500 32, 500 0.0

I “TIRFMGTFHILT 24335 17, 000 17, 000 0.0

NG -1/ RFRFFHILS5 3 472 11, 000 11,400 | -3.5

KT 2\KFIRKRFELE/FES8 1 7%&?2 4 10, 200 10,600 | -3.8

K+ 5-1| RFRTFAMEEH6 9 0% 2 15, 900 16,800 | -5.4

B3 1 RFAFFHEES 1 0F 11, 700 11,800 | 0.8

3| 2/ RFERFERR2 83 6%F7 10, 500 10,700 | -1.9

Faf Vi, 1 KRTFEETHEMHE1 33 9% 1 54 20, 700 20,800 | -0.5

il B, 2fFEE1THL4%1 34+ 30, 800 30,900 | —0.3

iy Vi, BIRFRRTE 7 F1744%69 25, 400 25,500 | -0.4

il B, “4FR5TH3699%42 5 —-14—13] 27, 700 27, 600 0.4

iy G, 5| RFFRINMNAMFIHBTHE1 34 3%5 3 33, 700 33, 600 0.3

[ -6/ KFIE8 27 2 22, 100 22, 100 0.0

iy Fi, T3 TH12%10 28, 800 28, 700 0.3

o 5, SFHR3ITH3793%F%24 I3 —-—8—2] 27, 000 26, 800 0.7

il 52, 99 FHLEITHIELT 27, 700 27, 700 0.0

oy 52, “10|9THH4A4THL 782 30, 100 30, 000 0.3

il 52, I RFEEFFT1518%K46 15, 300 15,400 | 0.6

Faf b, 12| RFHERFHNE 0 27 10, 000 10,100 | -1.0

il B, -3 A1 TH1I5%FK25 50, 400 50, 200 0.4

iy Vi, -l1fEH2TH14%2 51, 500 52,000 | -1.0

il B, 5-2|H2 TH2 3754+ 56, 500 57,100 | -1.1

RIFAATN LB TERM2 3 1% 1 9,530 9,590 | 0.6

IRIRITN 2 REFTERT2 7583 10, 600 10,700 | -0.9

RN TFAL I RFERTFHHBL2 1 0%KS5 15, 100 15, 100 0.0

P\ T 2| KRFHRKILUTFTETH5 2 4% 3 9, 200 9,250 | -0.5

/3 JA A -3 RFATFTHF = FHES59 9% 1 9, 450 9,500 | -0.5

FER -1|FEE3TH2 2%3 28, 100 28,200 | -0.4

s 2|FfEHF2TH1 8%2 25, 500 25,700 | 0.8

TEg B KRF/NFHRTIHONT 17 9% 1 12, 000 12,100 | -0.8

hEE 9-1| KFILBEMETFRIE T4 0 3F84 38, 000 35, 800 6.1

RIS -1/ FH650%5 25, 000 25, 000 0.0
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(1)

(2)

(3)

(4)

(5)

FEAEH = FEAE N D FTAE & O E I N B FoR REHER D 1 S | RIAE A RAAS | L B
KA= b (M) | (%)
7= 0 Offiks
(1)

RIS 2/FE%1811%4 26, 200 26, 200 0.0

R B3FH/M2189%45 25, 900 25, 900 0.0

RIS 4|5 @3 8 3%S 27, 100 27,200 | -0.4

R 5| RFARARFRIR 353 2% 1 10, 700 10,800 | -0.9

RIS 6| KRFEHFTELI 9 6%F4 11, 600 11, 600 0.0

RIS 5-1| a7 8 9% 1 34, 700 34,900 | -0.6

FIAR “IIRFINEE 1 1%E6 16, 800 17,000 | -1.2

FIIAR 2| RFA)IFE 208 0% 4 5 17, 000 17,100 | 0.6

FAR B3| KRFAHINTHL 7 8 8F 44+ 13, 300 13,400 | -0.7

FIAR 4| RFPIRBFFPIREE8 80F 1 19 16, 000 16,200 | 1.2

FAR S RTRETHREAR300%E340 16, 900 17,000 | —-0.6

FIR —6| KA T O 8 7 6 7 9,010 9,050 | 0.4

FAR S-1KTA)ITH1459F 14 17, 100 17,200 | -0.6
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